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Questions

Sonar is used to measure?

The longest and largest bone in the human body is

The name of disease called Lock-jaw is?

Sulfuric acid was prepared by?

What is the Closest Planet to Earth?

The L.C.M. of two numbers is 12 times their H.C.F. The sum of the H.C.F. and L.C.M. is 403.
If one number is 93, then the other number is:

6,18,24,9, 27,33, 11?,?

The marks obtained by 10 students in Science (out of 50) are 30, 41, 40, 30, 41, 30, 28, 41,
40. The modal mark is:

Oranges are bought at 5 for Rs. 10 and sold at 6 for. 15 . The profit or loss as percentage
is:

Which is the greatest five digit number exactly divisible by 279?

Unscramble the letters of words and find odd one out:

Four years ago, the average age of A and B was 18 years. At present the average age of
A,B and C is 24 years. what would be the age of C after 8 years?

Shahzad said to Hira " Your mother's husband's sister is my aunt". How is Hira related to
shahzad

The sum of the interior angles of a polygon is twice the sum of its exterior angles . How many
sides does the polygon have?

6(3- x)-5(2x-4)=4(3x-)+14 In this equation the value of xis

Answers Choice

A. The speed of sound

B. Ocean depth
. Water properties of temperature
. None of these

C

D

A. Spinal Cord
B. Humerus
C. Fibula

D. Femur

. Arthritis

. Hypetropia

. tetanus

. None of these

Johann Flauber
Peregrine Phillips
Jabir bin hayyan
None of these

Mars

Venus
Mercury

None of these

134
124
128
310

15,19
22,27
33, 39
44, 47

40
30
41
35

50%
40%
35%
25%
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99603
99882
99550
None of these

ORNI
ICAO
PPREOC
ZENRBO

oom» Dow

. 30 years
. 32 years
28 years
25 years

Daughter
Niece
sister
Mother

8 sides

9 sides
12 sides
6 sides
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A. its starts are stationary

B. its stars move entirely at random
Relative the center of our galaxy, .

D. Population 1 starts are stationary

and Population 2 star revolve

17

18

19

20

A. Mercury
The hottest planet of our solar system is C. Mars

D. Earth

A. A Blue gaint
Our sun is classified as C. Supernova

D. None of these

A. 50 mn years
The time taken by the Sun to revolve around the center of our galaxy is B. 100 mn years

D. 365 mn years
There are 40 coins in a bag, consisting of Rs.5 and Rs.2 coins. If the total amount is Rs. B. 25 and 15
140, how many Rs.2 and Rs.5 coins are there in the bag? C.30and 10

D. 22 and 18



